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L{FF2 1 H1100mH 0. 762m/8. Om (64H) 8:30 8:45
2| =ttt 100mH 0. 840m/8. 5m (1%H) 8:50 9:05
3|+ th£110mH 0. 914m/9. 14m (4%H) 8:55 9:10
4l B+ [110mH 1. 067m/9. 14m (2%H) 9:05 9:20
5| %5 F 1500m (LFL~35H) 9:15 9:30
(440~6:0) 9:35 9:50
(THEL~9%H) 9:55 10:10
6% 1 4 100mR (65H) 10:15 10:30
T+ 4% 100mR (54H) 10:45 11:00
8|1 800m (14 ~65H) 11:10 11:25
(THA~12%8) 11:35 11:50
(1340~19%0) 12:00 12:15
9%+ 100m (LFH~10%H) 12:25 12:40
(1140~20%H) 12:50 13:05
(2140~30%H) 13:15 13:30
(300 ~42%0) 13:40 13:55
10| %+ 3000m (144) 14:10 14:25
11| %+ 100m (LFL~1240) 14:25 14:40
(1240~2450) 14:55 15:10
(2440~ 36H) 15:25 15:40
12|91 400m (150~5%1) 15:55 16:10
(640~ 10:H) 16:15 16:30
13| — @itk 21 |400m (1#H) 16:35 16:50
14— 1 |200m (2%H) 16:40 16:55
15| @itz + 200m (1%H) 16:45 17:00
16| — % &5 1 |800m (2%H) 16:50 17:05
17| — =i 2 |1500m (1#A) 17:00 17:15
18— =it %51 [1500m (3%H) 17:15 17:30
19— EiR % 1 [5000m (1%H) 17:35 17:50
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NESE A Mgk (40) 8:20 9:00
2|51 flafL 5. Okg (25) 9:20 10:00
3= F 1 fafL 6. Okg (13) 9:20 10:00
41— 51 % 7. 260kg (1) 9:20 10:00
5|%&F A k1 (15) 9:20 10:00
6|Z1 A = k2 (16) 9:20 10:00
&+ AR Pk2 (46) 10:50 11:30
8|5+ Akl (19) 12:20 13:00
9%+ A k2 (12) 12:20 13:00
10|55+ A= WE Bk (58) 13:20 14:00
IRl s fafLpe 2. 721kg (33) 13:20 14:00
12|41 il fLfz 4. Okg (5) 13:20 14:00
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